scratch/run10103012.12btowW.hist.root, page=1, Mon Apr 13 03:20:21 2009

| L2 COMPUTE time per input event | Entries 230024 rate of COMPUTE Entries 230924 | total events. 0=anylnput 10=anyAccept 11-normalAccept 12=rdAcGept Entries 481621
Mean 15.36 Mean 4138 Mean 1153
6%000 [ RMS 9.41 RMS 226.9 .- - - - MS 1169
2 r Underflow 0 Underflow 0 ) nderflow 0
S ¢ Overflow 70 Overflow 0 : verflow 0
50000 {—
40000 [~ oo e
: R e
30000 R
[ LY SRR LARREARRES R Tt
20000 o P R e
10000 [} f- £+ e eesieeemsbennedunendenenn PRPEII PERS 7] IO S U DR IO S S NN S
o bl AP P TP P I AR PR T P P PR P P T Y
0 80 100 120 140 160 180 0 200 400 600 800 10001200 1400 1600 1800 2000 16 18
x: COMPUTE time (CPU kTics) x: time in this run (seconds) 6=staleData
| L2 DECISION time per input event | Entries 14644 W Btow delTime (decision-compute) | Entries 2293 | W Btow-compute: # btow towers w/ energy /event Entries 230924
Mean 244 Mean 205.1 Mean 9.558
Q{)OO - {rMS 1575 [ | F . W 4@ -1 2 {RMS 80.88 ‘2 [ RMS 8.257
[ . - ! . s . >
3 s[underfiow o [ : : : +[underow 0 S0t == {underfow 0
B +|overtiow 1 - +[overtiow 2280 S F overflow 0
4000 s T T 08fF----|{-------" AR SRR - |- r
: : 3 : I 10° E
so0o -} ceedereecerenedenec e Y SOUURN | SUSURU RO OO I 1 S g
: [ : : : : 10%
2000 - 4 i seee g LR : 04F-- - fe--vn--- e - - 41k F
o | : 10
1000 - - e v - [ e § AELEEEEE R, SETEE 4-0-F----1-- E
o TR P AR ol b LG Y OO O TR PO SO Y 1| 5 St S
15 20 25 30 35 0 50 100 150 200 250 300 0 70 80 90 100
x: DECISION time (CPU kTics) kTicks x: # BTOW towers
| L2 COMP+DECI time per input event | Entries 14644 rate of ACCEPT Entries 2543 W-BTOW-accepted: acc seed tower ET>5.00 GeV Entries 2293
Mean 1956 Mean 406.6 Mean 2375
‘2:200 F T Rus 9.677 E RMS 226 14 RMS 1382
[} F ~
_g_poo Underflow 0 % Underflow 0 Underflow 0
800 Overflow 6 ; Overflow 0 12 Overflow 0

10

i
o
=]
S
T T T T T T T T
IR I A AR L L MR R R |

0 20 40 60 80 100 120 140 160 180 200 400 600 800 10001200 1400 1600 1800 20

500 1000 1500 2000 2500 3000 3500 4000 4500 50
x: COMP+DECIS time (CPU kTics) X: time in this run (seconds) BTOW softID



scratch/run10103012.12btowW.hist.root, page=2, Mon Apr 13 03:20:21 2009

W Btow-accepted: seeds | Entries 2293
Mean 12.24

T T  lRMs 4779
--------- ' Integral 2293

107z

10E::

...................................................

0 40 50 60 70

Seed ET (GeV)

Mon Apr 13 03:20:21 2009

| W Btow-accepted: clusters | Entries 2293

Mean 16.31

10?

10

IRMS 4.59
Jintegral 2201

0 10 20 30 40 50 60 70

Cluster ET ET(GeV)

W Btow-accepted: cluster shape |

10 E=:

10

0 20 40 60 80 100

Entries 2293
|| Mean 76.01

....... RMS 20.79 |-oiorni
Integral 2293 : :

.....................................

.....................................

100*Seed Et/Cluster Et




scratch/run10103012.12btowW.hist.root, page=3, Mon Apr 13 03:20:21 2009

Entries 2293

W Btow accepted, seed tower Et>5.00 GeV

5120 I14
1=}

A
ELJ]' 12
|_

!

c 10
=

=

o

>

30 35
eta bin [-1,+1]




scratch/run10103012.12btowW.hist.root, page=4, Mon Apr 13 03:20:21 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |

14

12

10

8

6

4

2

0

Integral

126

ARTE W O | T I P Y PP S T

1
0 0 100 0

BTOW softiD

W-BTOW-accepted: acc seed tower ET>5.00 GeV

14

12

N

Integral

110

220 240
BTOW softiD

W-BTOW-accepted: acc seed tower ET>5.00 GeV

14

12

10

=N

Integral

97

HWHmﬂmn%H[ﬁhmﬂmﬁnﬂnﬂn%nﬂmﬁ """ Wﬁh;&i """ ﬁwnﬂﬂw

0
BTOW softiD

W-BTOW-accepted: acc seed tower ET>5.00 GeV

14

12

Integral

64

BTOW softID




scratch/run10103012.12btowW.hist.root, page=5, Mon Apr 13 03:20:21 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |

14

12

10

80

S Integral
SN YT AT T (TN T Wi Hﬂnmﬂ |oos Iy . moal

BTOW softiD

14

12

Integral

100

ﬂ'ﬁ""hﬂ'h"ﬂﬁﬂj """ H"HHHH"n"g'o';ﬁ'h"n'n"n"l'lh;'H"n'ﬂ'"1'52;n'"'j%'@;"h """ n'@;;"Hﬁ""hjﬂ'ﬂ%ﬂj

BTOW softiD

14

12

10

8

6

4

2

0

Integral

92

b N TN T ﬂ;jﬂﬁ'ﬁ'ﬁ"q'hf,'uh"ﬁhﬁ"ﬂ”’nﬁ'n'h"n'h"'Hlﬂa;""{n"";iu'h"hﬂ"n'ﬂ;; """ 11y

1320
BTOW softiD

14

12

Integral

80

gm0 e gk gl ey Hﬁ”;ﬂﬂ """ T T mH

2 146 0

BTOW softID




scratch/run10103012.12btowW.hist.root, page=6, Mon Apr 13 03:20:21 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |

14

12

10

BTOW soflID

SRS o i o R . |Integral 99
FH AT T TN ) 1;;; """" ﬂﬂﬂ'"ﬂ"'ﬁ'ﬁ'ﬂ'ﬂ""'m"'ﬂ'ﬂw}

14

12

N

Integral

101

0
BTOW softiD

14

12

10

Integral

90

¢ﬁ"”";ﬁﬂmﬁﬁﬁ%HHﬁﬁﬁ """"" H"Mﬁ """ HHmHHﬁT}WﬁHﬁFHﬂ """"""" Hﬁﬁ{F{Hﬂ"ﬁ

BTOW softiD

14

12

109

= Integral
=l WMHHRHMWWﬂ """ mw%%mw Wﬂ@ﬂwwyw )




scratch/run10103012.12btowW.hist.root, page=7, Mon Apr 13 03:20:21 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |

14

12

10

8

6

4

N

Integral

111

BTOW soflID

14

12

N

o

Integral

111

BTOW softiD

14

12

10

Integral

86

BTOW softiD

W-BTOW-accepted:

14

12

Integral

108

BTOW softID




scratch/run10103012.12btowW.hist.root, page=8, Mon Apr 13 03:20:21 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |

14

12

10

e | INtEgTE

90

AN PO ST TR T T AT
3220 3240 3260 3280 3300 3320 3360 3380 3401

BTOW softiD

14

12

Integral

93

BTOW softiD

"'n'";ﬂjh"h""ﬁ'h"'n'"n'"ﬁ"n'"ﬁ"'n"h """" ﬂiﬁh’ﬁhﬁ'"n’;ﬂ"HH@""H """ Hgsmmnﬂwﬂﬁn@g ' 5; U

14

12

10

Integral

93

= HHHEM anl Sgﬂ el %%WTHWH’ """"""" L h'h"'h""n'"ﬁ'n":"n""Hh'n"n'h'h"h'ﬁ""ﬂﬁ"ﬂ """ ' ﬂmmﬁb

BTOW softiD

14

12

Integral

104

0
BTOW softID

4000




scratch/run10103012.12btowW.hist.root, page=9, Mon Apr 13 03:20:21 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |

14

12

10 =

Integral

68

20
BTOW softiD

14

12

N

Integral

99

0
BTOW softiD

14

12

10

90

S A T A R Integral
z_nH"m'hh'h'n""'""'"n'n"n"'n"mﬂ"'"ﬁ'nmﬂ """ ﬁﬂm&ﬂnm """ Boduliy 4 o "@"Hh’ﬂ"ﬁ

BTOW softiD

14

12

[
Mon Apr 13 03:20:21 2009

BTOW softID

S R " Integral 92
h’H"H'ﬁ'ﬁ'm"ﬂﬁh"'ﬁ"ﬁ"ﬁﬂh’h’ﬁ""ﬁ; """""" ﬁ'm"n'"'h"hh"n'""n'"ﬂﬂ""h"h'hﬁ' """" n""n"n'i """ g1




:20:21 2009

5, Mon Apr 13 03

scratch/run10103012.12btowW.hist.root, page

802

Entries

| W Btow-accept: cluster 15 <ET< 20 GeV |

Entries 1219

| W Btow-accept: cluster 10 <ET< 15 GeV

Entries 0

W Btow-accept: cluster 0 <ET< 10 GeV

] 8 8 8 S
— —
103095 DL ~ uig 1yd pass

15

10

T FEEEE PR FEEEE FEEEE FEETE R TE S
20

oof-----

o
S 3
10309s 0L ~ uiq 1yd pass

seed eta bin [-1,+1]

seed eta bin [-1,+1]

seed eta bin [-1,+1]

19

| W Btow-accept: cluster 30 <ET< 35 GeV | Entries

Entries 56

| W Btow-accept: cluster 25 <ET< 30 GeV

167

Entries

| W Btow-accept: cluster 20 <ET< 25 GeV |

o
N
—

1

o
N
—

1

a0-----

0199S dOL

o
[
—

1

01995 doL

seed eta bin [-1,+1]

seed eta bin [-1,+1]

seed eta bin [-1,+1]

9

| W Btow-accept: cluster 45 <ET< 999 GeV | Entries

Entries 8

| W Btow-accept: cluster 40 <ET< 45 GeV

13

Entries

| W Btow-accept: cluster 35 <ET< 40 GeV |

=
+v
s
£
e
©
bt
[0
o
(5]
Q
1%}
...... :
|

o o

N o ]

— —

10309s g0 ~ ulq 1yd paas
=
+1
o
£
Qo
8
()
el
(7]
(9]
12

100f-----4--

o
N
—

1

)
7]

0199s dJ1 ~ ulq 1yd pa

54 9OOY

10 15 20 25
:20:

Mon Apr 13 03

o
N
-
10309s 401



